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Entrance: Point Grey
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Exit: PCO
Calibration

Image rotated 180 degrees

1.5cm =sqrt((751.0-416.7)2+(748.6-773.3)"2)=335.3
1pixel =45 micron
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After alignment — (readjusting rotation of final mirror)

Write PG
Original image

200
150
100

50

50 100150200250

start guess

200
150
100
50

50 100150200250

cross section

300
200
100
Lt N
0 100 200 300
Fitted image

thetax= 0, thetaX=0
150 100
100

50 50
0

50 100150200250

Write PCO
Original image

1580
100
50

50 100150200250

start guess

150
100
50

50 100150200250

cross section

300

200

100

T ™

0 100 200 300
Fitted image

thetax= 0, thetax=0

150
100
50

50 100150200250



200
1580
100

50

200
150
100

50

Stokes PG
Original image

50 100150200250

start guess

50 100150200250

cross section
300

200

100

200 300

Fitted image
thetaX= -4.47 , thetax= -0.462

200
150
100

50

150
100

50 100150200250

Stokes PCO
Original image

150
100
50

50 100 150 200

start guess
150

100
50

50 100 150 200

cross section
300

200
100
JI
e :
100 200

0

300

Fitted image
thetax= 5.93, thetaxX=-1.48

150
100
50

50 100 150 200




What is mode size?
PAF-X-7-B



